Potencias de 10 (E)

Calcule los siguientes productos y cocientes.

3.4925 =+ 10° 4.2473 x 107!
7.9515 x 10! 5.2603 x 10°
2.7733 + 107 6.4002 x 10°
3.0834 + 1072 5.1243 1072
2.8941 x 10? 8.385x 1073
2.6908 =103 5.1747 x 10?
6.6628 x 107! 4.0266 = 10°
8.6353 x 10! 6.6371 + 10!

8.22 = 10! 1.2698 x 1072
2.2457 +10? 7.4234 =103
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Potencias de 10 (E) Respuestas

Calcule los siguientes productos y cocientes.

3.4925 +10° 4.2473 x 107!
3.4925 0.42473
7.9515 x 10! 5.2603 x 10°
79.515 5,260.3
2.7733 +10? 6.4002 x 10°
0.027733 6.4002
3.0834 102 5.1243 102
308.34 512.43
2.8941 x 10? 8.385x 1073
289.41 0.008385
2.6908 + 1073 5.1747 x 10?
2,690.8 517.47
6.6628 x 10~ 4.0266 = 10°
0.66628 4.0266
8.6353 x 10! 6.6371 10!
86.353 0.66371
8.22 + 10! 1.2698 x 102
0.822 0.012698
2.2457 +10? 7.4234 =103

0.022457 7,423 .4
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